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S defindons sund on axiom (wih WC;(:S):
(i,) EX et © oo repeadable procedure (c,. . - -F(t
o-) ?'ﬁ'ie 3 cowms; rofll {uo &ct)co){ Ao b ﬁr&s)f
[t MF& SpCC S ¢ the st ssiblz oudtcowes
o o exruww.ui . E_’j' roll tuo iZtcc." o= n:mizu‘f,
wr.:le.
S<ii2..., 163L33,...,d8, 3,..., 665.
Here [Si1= 6%< 36.
((ii.) EV¢.u.i A’ schset of fhe sa.u-fle sl':c.cd'
Eﬁ. 'rcbl" S &S C-Lewc, 'ﬂsc. &V&k‘t "
A= §13,3,228 is the everd “the scun on
the e s 4.

(iv) P(A): fL‘_P.mMM% of the everdt A.

PEOLQ,IA,( Axiom A1 £ all ovtcomes of
[« 7N ¢.xre.r1w.¢.y:t are atuc..(lg( ll E¢L{) ‘f/tzu

P(A):M (ssommg (A and [S] ore= ‘Flm‘é:\.
IS | =

E g coll 4we four dice. Then for S ol A 6s above,

P(A)= 3 % H.033=R.23 7=.
36

(v) Randeow \anchle (rv) X a wast ‘o ass—lju a
Aouber to eoch ovlecowe of an cxfermc.u:"n

E.SI. £ we roll twe far c,awc, we uﬁ&f er:ﬁhc.
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Xz the r\uw.()e,r O'F ’5§ ﬂ\c.'} CoOme UL)-
(S0 X=O 4 erd).

Other rvs for this sawe cx(outw.cpcf’

Y< the soun of the two #5
Q‘ ‘{;Lc GIMa.Ue.s‘{i of these f-'tls)
Z = {the (GﬁeS(‘)

N the avErage.

[VL) P\‘oboj:tl\'l‘gt WMGKI ‘FU“CjL’Q_b ( M'P) O{O-M NN X:
3 ecrficotion o'F the fl‘ObOﬁ&("{'p, P(X=2:) (Macu\ti(g
the loroLo.}uHL’ that X 1tokes the value= ,ij dor
ecncln .Posmuc valve Z.

Exam‘:(e 1.
Let V be the suu of the A5 4hat come |
on twe fair Avce. Frl the PM‘P for Y.
Seslction.
e nc:o"le ‘(J(/sa..‘} Yc.a.u £01<c. Vc».LUc.j Ffem & {O

(2. e cowpule the P/oéa.é;lrhc.s A these
vialues usu.:._g AX(é:m .1:

pex=a) = [§u3l =

—_—

[
36 36
P(X=3) =]§12,aI8]= A
36 36
P( X=4)=lé/3,3(,&;tst=§é_,

Jé
p(X=5)= 15144(,23 323 ]= 4
36 36
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P(X=&V<[515,51,2942,333[= 5
36 26

P(X= 7)=[31661,2553 39438]= 6 ,
36 3
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P(X=R)= |$26,62,3553443]= & _,
36

- (D17 for y=9I16 1,12, we @kl;.ﬂc that
P( \/-'é/) = "‘ ?) 2,1 rc%‘)ccf)ualvf)

L Aside: o cpwla@;i fornda.
P(Y:{ 6- I7~vl

Check® the obeve FroLa.bzlrhcs ad® uf o 1.

Examﬁlc ol o
Fllf 3 o cao\.uSJ (c’6 x-r\uw.be—f o'(, /\:&645
F\M.Cg ‘E/xc. t)(M.‘P 'por

SQ’U.thle
‘)Ue- hove So.w-t)(z SE@::.
S=SHHH HHT HTH HTT 703, THT, HTG TT T8,
So

P(X=0)= Y&=13.5%, P(X=1)=3/8=37.57%,
P(X=2) = 3/8=37.5%, P(X=3)=3FK = 37.5%.



